Copyright: Lionel Troyon / Team Magic Europe

www.teammagiceurope.net

E6 /E6 1l /E6 Il Parts List

15.05.2017

E TR 778 RE!UPEE BRUSHINESS RI]IJPER

E6 Trooper 775 E6 Trooper BL E6 Trooper Il E6 Ill HX EG6 Ill BES

REF ARTICLE (TM505001) (TM505002) (TM505004) (TM505005) (TM505006)
KF6602-9 M1.0 Pinion Gear for 5mm Shaft 9T NO NO NO NO ORIGINAL
TM101205 Body Clips - R8 - fits 8mm body mount - Black (10 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM101206 Body Clips - R10 - fits 10mm body mount - Black (10 pcs) OPTION OPTION OPTION OPTION ORIGINAL
TM111007ST Nuts - M3 nyloc - Steel (10 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM111118 Body Clips - 1/10 - R5 - Black (10 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM111163 Nuts - M4 nyloc (10 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM111164 Nuts - M3.5 nyloc (10 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM111166 Body Clips - R8 - fits 8mm body mount - Black (10 pcs) OPTION OPTION OPTION OPTION ORIGINAL
TM114071 Servo Extension (2 pcs) NO NO ORIGINAL ORIGINAL ORIGINAL
TM115027BK Ball Cups and Rose Joints - Black - 6 pcs ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM115031 6.8mm Steel Ball (10 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM115032 5.8mm Steel Ball (10 pcs) ORIGINAL ORIGINAL NO ORIGINAL ORIGINAL
TM115035 6.8mm Single Flanged Steel Ball (6 pcs) NO NO ORIGINAL ORIGINAL ORIGINAL
TM116203 E-clip - 5.0mm (10 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM116218 Pin - 2.5x12.8mm (10 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM116229 Pin - 2.5x16.8mm (10 pcs) ORIGINAL ORIGINAL ORIGINAL NO NO
TM116232 Pin - 2.0x13.8mm (10 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM116233 Pin - 2.5x14.8mm (10 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL NO
TM116234 Pin - 5.0x23.9mm (10 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM116235 Pin - 2.0x14.8mm (10 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM116236 Pin - 2.5x10.8mm (10 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM116237 Pin - 2.5x11.8mm (10 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM116245 Pin - 2.5x13.8mm (10 pcs) NO NO NO ORIGINAL NO
TM116246 Pin - 3.5x18.8mm (10 pcs) NO NO NO NO ORIGINAL
TM116310RCR Screws - Button Head - Self Tapping - 3 x 10mm (6 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM116312 Screws - Flat Head - Self Tapping - Allen - 3 x 12mm (6 pcs) NO NO ORIGINAL ORIGINAL NO
T™M116701 C-Clip - 20mm (6 pcs) NO NO NO NO ORIGINAL
TM116751 Replacement Part - E6 IIl - Lockpin 3x17.3mm (4 pcs) NO NO NO NO ORIGINAL
TM122512BU Screws - Button Head - Allen - M2.5 x 12mm (10 pcs) ORIGINAL ORIGINAL NO NO NO
TM123508C Screws - Cap Head - Allen - M3.5 x 8mm (6 pcs) NO NO ORIGINAL NO NO
TM123510C Screws - Cap Head - Allen - M3.5 x 10mm (6 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL NO
TM123513BU Screws - Button Head - M3.5 x 13mm (6 pcs) NO NO ORIGINAL ORIGINAL ORIGINAL
TM123516BU Screws - Button Head - M3.5 x 16mm (6 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM123520BU Screws - Button Head - M3.5 x 20mm (6 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM123528BU Screws - Button Head - M3.5 x 28mm (6 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM126208BU-6 Screws - Button Head - Allen - M2.6 x 8mm (6 pcs) NO ORIGINAL ORIGINAL NO NO
TM126208C Screws - Cap Head - Allen - M2 x 8mm (6 pcs) NO NO ORIGINAL NO NO
TM126208C-5 Screws - Cap Head - Allen - M2.5 x 8mm (6 pcs) NO NO NO ORIGINAL ORIGINAL
TM126303S Grub Screws - M3 x 3mm (6 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL




www.teammagiceurope.net

Jort - it
LSSInnon Ly

RDUPE:R BRUSHIESS

ﬁm

E6 Trooper 775 E6 Trooper BL E6 Trooper Il E6 11l HX E6 Ill BES
REF ARTICLE (TM505001) (TM505002) (TM505004) (TM505005) (TM505006)
TM126306 Screws - Flat Head - Allen - M3 x 6mm (6 pcs) NO NO NO NO ORIGINAL
TM126306BU Screws - Button Head - Allen - M3 x 6mm (6 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL NO
TM126308BU Screws - Button Head - Allen - M3 x 8mm (6 pcs) NO NO NO NO ORIGINAL
TM126308C Screws - Cap Head - Allen - M3 x 8mm (6 pcs) NO NO ORIGINAL ORIGINAL ORIGINAL
TM126308SE Screws - Large Head - M3 x 8mm - Servo Mount (6 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM126310 Screws - Flat Head - Allen - M3 x 10mm (6 pcs) NO NO ORIGINAL ORIGINAL ORIGINAL
TM126310BU Screws - Button Head - Allen - M3 x 10mm (6 pcs) ORIGINAL ORIGINAL ORIGINAL NO ORIGINAL
TM126310C Screws - Cap Head - Allen - M3 x 10mm (6 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM126312 Screws - Flat Head - Allen - M3 x 12mm (6 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM126312BU Screws - Button Head - Allen - M3 x 12mm (6 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM126312C Screws - Cap Head - Allen - M3 x 12mm (6 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM126313BU-5 Screws - Button Head - M3.5 x 13mm (6 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM126314BU Screws - Button Head - Allen - M3 x 14mm (6 pcs) ORIGINAL ORIGINAL NO ORIGINAL ORIGINAL
TM126316BU Screws - Button Head - Allen - M3 x 16mm (10 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM126316C Screws - Cap Head - Allen - M3 x 16mm (6 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM126318 Screws - Flat Head - Allen - M3 x 18mm (6 pcs) ORIGINAL ORIGINAL NO NO NO
TM126320BU Screws - Button Head - Allen - M3 x 20mm (6 pcs) NO NO ORIGINAL ORIGINAL ORIGINAL
TM126320C Screws - Cap Head - Allen - M3 x 20mm (6 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM126320S Grub Screws - M3 x 20mm (6 pcs) ORIGINAL ORIGINAL ORIGINAL NO ORIGINAL
TM126324C Screws - Cap Head - Allen - M3 x 24mm (6 pcs) NO NO NO NO ORIGINAL
TM126330 Screws - Cap Head - Allen - M3 x 30mm (6 pcs) ORIGINAL ORIGINAL NO NO NO
TM126330C Screws - Cap Head - Allen - M3 x 30mm (6 pcs) NO NO ORIGINAL ORIGINAL ORIGINAL
TM126335C Screws - Cap Head - Allen - M3 x 35mm (6 pcs) NO NO ORIGINAL ORIGINAL ORIGINAL
TM126340C Screws - Cap Head - Allen - M3 x 40mm (6 pcs) NO NO ORIGINAL ORIGINAL ORIGINAL
TM126370C Screws - Cap Head - Allen - M3 x 70mm (6 pcs) NO NO ORIGINAL ORIGINAL ORIGINAL
TM126380RCR Screws - Button Head - M3 x 80mm (6 pcs) ORIGINAL ORIGINAL ORIGINAL NO NO
TM126385C Screws - Cap Head - Allen - M3 x 85mm (6 pcs) NO NO ORIGINAL ORIGINAL ORIGINAL
TM126404NL Grub Screws - M4 x 4mm with Thread Lock (6 pcs) ORIGINAL ORIGINAL ORIGINAL OPTION OPTION
TM126404S Grub Screws - M4 x 4mm (6 pcs) OPTION OPTION OPTION ORIGINAL ORIGINAL
TM126410C Screws - Cap Head - Allen - M4 x 10mm (6 pcs) ORIGINAL ORIGINAL NO NO NO
TM126456C Screws - Cap Head - Allen - M4 x 56mm (6 pcs) NO NO ORIGINAL ORIGINAL ORIGINAL
TM126505S Grub Screws - M5 x 5mm (6 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL NO
TM130106 Washers - 13.2 x 15.9 x 0.1mm (6 pcs) NO NO NO NO ORIGINAL
TM130107 Washers - 13.2 x 15.9 x 0.5mm (6 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM130116 Washers - 3.2 x 8 x 0.7 (10 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM130117 Washers - 6.2 x 15 x 0.3mm (10 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM130118 Washers - 4.2 x 9.6 x Imm (10 pcs) ORIGINAL ORIGINAL ORIGINAL NO NO
TM130119 Washers - 3.6 x 8 x Imm (10 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM130120 Washers - 3 x 7 x Imm (10 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM130133 Washers - 8.1x 12 x 0.5mm (10 pcs) NO NO ORIGINAL ORIGINAL ORIGINAL
TM130134 Washers - 4.2 x 9.6 x 0.7mm (10 pcs) NO NO ORIGINAL ORIGINAL ORIGINAL
TM150407 Ball Bearings - metric - 4x 7x2.5mm (4 pcs) REPLACED BY TM150407ST
TM150407C 4x7x2.5mm Collar (4 pcs) ORIGINAL NO NO ORIGINAL NO
TM150407ST Ball Bearings - metric - 4x 7x2.5mm (4 pcs) OPTION ORIGINAL ORIGINAL OPTION ORIGINAL
TM150510ST Ball Bearings - metric - 5x10x4mm (4 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM150612 Ball Bearings - metric - 6x12x4mm Rubber sealed (4 pcs) REPLACED BY TM1506120
TM1506120 Ball Bearings - metric - 6x12x4mm Rubber sealed Orange (4 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL




www.teammagiceurope.net

Jort - it
LSSInnon Ly

RDUPE:R BRUSHIESS

ﬁm

E6 Trooper 775 E6 Trooper BL E6 Trooper Il E6 11l HX E6 Ill BES
REF ARTICLE (TM505001) (TM505002) (TM505004) (TM505005) (TM505006)
TM150816 Ball Bearings - metric - 8x16x5mm Rubber sealed (4 pcs) REPLACED BY TM150816BK
TM150816BK Ball Bearings - metric - 8x16x5mm Rubber sealed Black (4 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM152001 O-ring - P5 (10 pcs) NO NO NO ORIGINAL ORIGINAL
TM152003 O-ring - P6 (10 pcs) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM152007 O-ring - P3 (10 pcs) NO NO ORIGINAL ORIGINAL ORIGINAL
TM505101 E6 Shock Pivot Ball Mount (4) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM505102 E6 Shock Pivot Ball (4) ORIGINAL ORIGINAL ORIGINAL ORIGINAL NO
TM505103 E6 Shock Body (2) ORIGINAL ORIGINAL ORIGINAL ORIGINAL NO
TM505103A E6 Alum. Shock Body (2) OPTION OPTION OPTION OPTION NO
TM505104 E6 Shock Bladder 17mm (4) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM505105 E6 Shock Spring Holder ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM505106 E6 Shock Piston ORIGINAL ORIGINAL ORIGINAL ORIGINAL NO
TM505107 E6 Shock Shaft (2) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM505108 E6 Shock O-Ring & Washer ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM505109 E6 Shock Spring (Red) (2) ORIGINAL ORIGINAL OPTION NO NO
TM505110 E6 Shock Absorber Set ORIGINAL ORIGINAL ORIGINAL ORIGINAL NO
TM505110GD E6 - Aluminum Gold anodized - Shock Absorber Set (2 pcs) OPTION OPTION OPTION OPTION ORIGINAL
TM505110GD-1 E6 - Aluminum Gold anodized - Aluminum Shock Body (2 pcs) NEED TM505110GD NEED TM505110GD NEED TM505110GD NEED TM505110GD ORIGINAL
TM505110GD-2 E6 - Piston (4 pcs) NEED TM505110GD NEED TM505110GD NEED TM505110GD NEED TM505110GD ORIGINAL
TM505111 E6 F/R Differential Outdrive (2) ORIGINAL ORIGINAL ORIGINAL ORIGINAL NO
TM505111ST E6 ST Steel F/R Differential Outdrive (2) OPTION OPTION OPTION OPTION NO
TM505112 E6 Bevel Gear - 43T/11T ORIGINAL ORIGINAL NO NO NO
TM505113 E6 Differential Case Gasket (4) ORIGINAL ORIGINAL ORIGINAL ORIGINAL NO
TM505114 E6 Differential Bevel Gear Set (for 1 diff) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM505115 E6 Differential Bevel Shaft (2) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM505116 E6 Bevel Gear Case ORIGINAL ORIGINAL ORIGINAL ORIGINAL NO
TM505117 E6 Complete Differential Kit (F/R) ORIGINAL ORIGINAL ORIGINAL NO NO
TM505118 E6 Center Solid Axle Outdriver (2) ORIGINAL ORIGINAL ORIGINAL ORIGINAL NO
TM505118ST E6 ST Steel Center Solid Axle Outdriver (2) OPTION OPTION OPTION OPTION NO
TM505119 E6 C-Clip 10.8x1.1mm (4) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM505120 E6 Center Gear Cover ORIGINAL ORIGINAL NO NO NO
TM505121 E6 Center Solid Axle ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM505122 E6 Center Gear (33T) ORIGINAL ORIGINAL NO NO NO
TM505123 E6 Complete Center Spool Kit ORIGINAL ORIGINAL ORIGINAL ORIGINAL NO
TM505124 E6 C-Clip 13x1.3mm (4) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM505125 E6 Joints Outdriver (2) ORIGINAL ORIGINAL ORIGINAL ORIGINAL NO
TM505125ST E6 ST Steel Center Joints Outdriver (2) OPTION OPTION OPTION OPTION NO
TM505126 E6 Differential Box ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM505127 E6 Aluminium Lower Arm Mount Red (2) OPTION OPTION ORIGINAL OPTION OPTION
TM505127BK E6 Aluminium Lower Arm Mount Black (2) ORIGINAL ORIGINAL OPTION OPTION OPTION
TM505127GD E6 Aluminium Lower Arm Mount Gold (2) OPTION OPTION OPTION OPTION ORIGINAL
TM505127TI E6 Aluminium Lower Arm Mount Titanium (2) OPTION OPTION OPTION ORIGINAL OPTION
TM505128 E6 Lower Arm Hinge Pin 4x70mm (2) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM505129 E6 Front/Rear Upper Arm Hinge Pin Mount (4) ORIGINAL ORIGINAL NO NO NO
TM505130 E6 Upper Arm Hinge Pin 4x48mm (2) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM505131 E6 Nylon Adjuster & Pivot Ball Mount ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM505132 E6 Aluminium Shock Tower Red ORIGINAL ORIGINAL ORIGINAL OPTION OPTION




www.teammagiceurope.net

m‘ﬁﬂiﬂﬂiﬂiﬁﬁ

Jort - it
228

S e ——

RDUPE:R BRUSHIESS

ﬁm

E6 Trooper 775 E6 Trooper BL E6 Trooper Il E6 11l HX E6 Ill BES
REF ARTICLE (TM505001) (TM505002) (TM505004) (TM505005) (TM505006)
TM505132BK E6 Aluminium Shock Tower Black OPTION OPTION OPTION OPTION OPTION
TM505132GD E6 Aluminium Shock Tower Gold OPTION OPTION OPTION OPTION ORIGINAL
TM505132TI E6 Aluminium Shock Tower Titanium OPTION OPTION OPTION ORIGINAL OPTION
TM505133 E6 Arm Set ORIGINAL ORIGINAL ORIGINAL ORIGINAL NO
TM505134 E6 CVA Joints (2) ORIGINAL ORIGINAL NO NO NO
TM505135 E6 C-Clip 15x1.3mm (4) ORIGINAL ORIGINAL ORIGINAL NO NO
TM505136 E6 Pivot Ball (11mm) (4) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM505137 E6 Steering Block (2) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM505138 E6 Wheel Adapter Set Red (2) OPTION OPTION ORIGINAL NO NO
TM505138-1 E6 Wheel Nuts - Red (2 pcs) NEED TM505138 NEED TM505138 ORIGINAL NO NO
TM505138BK E6 Wheel Adapter Set Black (2) ORIGINAL ORIGINAL OPTION NO NO
TM505138BK-1 E6 Wheel Nuts - Black (2 pcs) ORIGINAL ORIGINAL NEED TM505138BK NO NO
TM505138SGD E6 Serrated Wheel Adapter Set Gold (2) OPTION OPTION OPTION NO ORIGINAL
TM505138SGD-1 E6 Aluminum Gold anodized - Serrated Wheel Nut (2 pcs) NEED TM505138SGD NEED TM505138SGD NEED TM505138SGD NO ORIGINAL
TM505139 E6 Mounted Tire (Pair) DISCONTINUED
TM505139-1 E6 Wheel (2) DISCONTINUED
TM505140 E6 Bumper Set ORIGINAL ORIGINAL ORIGINAL NO NO
TM505141 E6 Body Post Set (F/R) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM505142 E6 Ball Cup 5.8mm (10) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM505143 E6 4x110mm Rod (2) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM505144 E6 Servo Saver Inner Post ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM505145 E6 Steering Bushing ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM505146 E6 Aluminium Steering Linkage Plate - Red ORIGINAL ORIGINAL ORIGINAL OPTION OPTION
TM505146GD E6 Aluminium Steering Linkage Plate - Gold OPTION OPTION OPTION OPTION ORIGINAL
TM505146TI E6 Aluminium Steering Linkage Plate - Tl OPTION OPTION OPTION ORIGINAL OPTION
TM505147 E6 Servo Saver Post ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM505148 E6 Servo Saver Nylon Parts ORIGINAL ORIGINAL ORIGINAL ORIGINAL NO
TM505149 E6 Servo Saver Spring REPLACED BY TM505149H
TM505149H E6 Servo Saver Spring (Hard) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM505150 E6 Reduction Gear Box ORIGINAL ORIGINAL ORIGINAL NO NO
TM505151 E6 Reduction Gears ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM505152 E6 Spur Gear Shaft ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM505153 E6 Spur Gear Linkage Plate - Red ORIGINAL ORIGINAL ORIGINAL OPTION NO
TM505153TI E6 Spur Gear Linkage Plate Titanium OPTION OPTION OPTION ORIGINAL NO
TM505154 E6 Spur Gear Hub ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM505155 E6 Spur Gear-45T (CNC Machined for 6S) OPTION OPTION OPTION OPTION OPTION
TM505156 E6 Spur Gear-46T (CNC Machined for 6S) OPTION OPTION OPTION OPTION OPTION
TM505157 E6 Spur Gear-47T NO NO NO ORIGINAL NO
TM505157S E6 Spur Gear-47T (CNC Machined for 6S) ORIGINAL ORIGINAL ORIGINAL OPTION ORIGINAL
TM505158 E6 Spur Gear, Battery, Driveshafts Cover ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM505159 E6 Motor Mount Red OPTION OPTION NO NO NO
TM505159BK E6 Motor Mount Black ORIGINAL ORIGINAL NO NO NO
TM505160 Electric Motor - 775 Motor - E6 Trooper ORIGINAL NO NO NO NO
TM505161 E6 Pinion Gear-12T (M1) REPLACED BY KF6602-12
TM505162 E6 ESC Cover ORIGINAL ORIGINAL NO NO NO
TM505163 Electronic Speed Controller - Trooper 775 ESC ORIGINAL NO NO NO NO
TM505164 E6 Double Side Tape DISCONTINUED




www.teammagiceurope.net

m‘ﬁﬂiﬂﬂiﬂiﬁﬁ

Jort - it
228

S e ——

RDUPE:R BRUSHIESS

ﬁm

E6 Trooper 775 E6 Trooper BL E6 Trooper Il E6 11l HX E6 Ill BES
REF ARTICLE (TM505001) (TM505002) (TM505004) (TM505005) (TM505006)
TM505165 E6 ESC&Motor Mount, Front Nylon Cover ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM505166 E6 Chassis ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM505167 E6 Switch Mount and Rear Nylon Cover ORIGINAL ORIGINAL ORIGINAL NO NO
TM505168 E6 Alum. Servo Arm (Futaba) ORIGINAL ORIGINAL ORIGINAL ORIGINAL ORIGINAL
TM505169 E6 Center Universal Joint ORIGINAL ORIGINAL ORIGINAL NO NO
TM505170BK E6 Body Shell Black ORIGINAL OPTION OPTION NO NO
TM505170C E6 Body Shell Clear OPTION ORIGINAL OPTION NO NO
TM505170C-1 Light Bracket for E6 Body OPTION ORIGINAL OPTION NO NO
TM505170W E6 Body Shell White OPTION OPTION OPTION NO NO
TM505171 E6 Pinion Gear-14T (M1) REPLACED BY KF6602-14
TM505172 E6 Spur Gear Linkage Plate Black ORIGINAL ORIGINAL OPTION NO NO
TM505173 E6 Quick- Release Battery Holder ORIGINAL ORIGINAL OPTION NO NO
TM505174 E6 The Fifth Wheel Set ORIGINAL ORIGINAL NO NO NO
TM505175 E6 Machined Bevel Gear - 43T/11T REPLACED BY TM505112
TM505176 E6 Shock Spring - K1.6 (medium) - White (2) ORIGINAL ORIGINAL OPTION OPTION OPTION
TM505176BK E6 Shock Spring - K1.6 (medium) - Black (2) OPTION OPTION OPTION OPTION ORIGINAL
TM5051760 E6 Shock Spring - K1.6 (medium) - Orange (2) OPTION OPTION OPTION ORIGINAL OPTION
TM505176R E6 Shock Spring - K1.6 (medium) - Red (2) OPTION OPTION OPTION OPTION OPTION
TM505177 E6 Shock Spring - K1.2 (soft) - Blue (2) OPTION OPTION OPTION OPTION OPTION
TM505178 E6 Shock Spring - K1.8 (hard) - Orange (2) OPTION OPTION OPTION OPTION OPTION
TM505201 E6 Center Gear Cover (for 3mm screws) NO NO ORIGINAL ORIGINAL NO
TM505202 E6 Center Gear 33T (for 3mm screw) NO NO ORIGINAL ORIGINAL ORIGINAL
TM505203 E6 New Front/Rear Upper Arm Hinge Pin Mount (4) NO NO ORIGINAL ORIGINAL ORIGINAL
TM505204 E6 New Universal Driveshaft (2) OPTION OPTION ORIGINAL NO NO
TM505204G E6 New Universal Driveshaft (2)(G Clip ver.) OPTION OPTION OPTION ORIGINAL NO
TM505204G-1 E6 G-Clip 15x1.3mm (4) NEED TM505204G NEED TM505204G NEED TM505204G ORIGINAL NO
TM505205 E6 Mounted Tire 7.1" Size (Pair) OPTION OPTION ORIGINAL NO NO
TM5052060 E6 Tire Ring (Orange)(2) NO NO OPTION ORIGINAL NEED TM505232BK
TM505206R E6 Tire Ring (Red)(2) NO NO ORIGINAL OPTION NEED TM505232BK
TM505207 E6 Trooper Il Body Shell OPTION OPTION ORIGINAL NO NO
TM505208 E6 Motor Mount (for 45 Motor) NO NO ORIGINAL OPTION NO
TM505208BK E6 Motor Mount (for 45 Motor)-Black OPTION OPTION OPTION ORIGINAL NO
TM505208GD E6 Motor Mount (for 4S Motor)-Gold OPTION OPTION OPTION OPTION NO
TM505209 E6 Waterproof Receiver Box OPTION OPTION ORIGINAL ORIGINAL ORIGINAL
TM505210 E6 Receiver Box Seal (2) NO NO ORIGINAL ORIGINAL ORIGINAL
TM505211 E6 Cover for Waterproof ESC OPTION OPTION ORIGINAL ORIGINAL ORIGINAL
TM505212 E6 Waterproof Switch Mount NO NO ORIGINAL ORIGINAL ORIGINAL
TM505213 E6 Rear Wing - Blue NEED TM5052143 / TM505215 / NEED TM5052143 / TM505215 / ORIGINAL OPTION OPTION
TM505216 TM505216
TM505213BK E6 Rear Wing - Black NEED TMsgiﬂzslgssz/lgmsosns/ NEED TMsgiﬂzslgssz/lgmsosns/ OPTION OPTION ORIGINAL
TM5052130 E6 Rear Wing - Orange NEED TM5052143 / TM505215 / NEED TM5052143 / TM505215 / OPTION ORIGINAL OPTION
TM505216 TM505216
TM505214 E6 Screws and Shims for Rear Wing (2) NEED TM505213 /TM505215 / NEED TM505213 /TM505215 / ORIGINAL ORIGINAL OPTION
TM505216 TM505216
TM505214AGD E6 Alum. Shims for Rear Wing (2)-Gold OPTION OPTION OPTION OPTION ORIGINAL
TM505215 E6 Rear Wing Support NEED TM505213 / TM505214 / NEED TM505213 / TM505214 / ORIGINAL ORIGINAL ORIGINAL
TM505216 TM505216




www.teammagiceurope.net

Jort - it
228

S e ——

RMUPE:R BRUSHIESS

Z; ETERD

E6 Trooper 775 E6 Trooper BL E6 Trooper Il E6 11l HX E6 Ill BES
REF ARTICLE (TM505001) (TM505002) (TM505004) (TM505005) (TM505006)
TM505216 E6 Rear Wing Support Mount IR AR LR/ IR AR AL PR/ ORIGINAL ORIGINAL ORIGINAL
TM505215 TM505215
TM505217 E6 New Wheelie Support (2) NEED TM505218 NEED TM505218 ORIGINAL ORIGINAL ORIGINAL
TM505218 E6 New Wheelie Wheel NEED TM505217 NEED TM505217 ORIGINAL ORIGINAL ORIGINAL
TM505220 E6 Steel Shock Pivot Ball Mount (2) Opt. OPTION OPTION OPTION OPTION ORIGINAL
TM505221GD 6.3mm CNC Machined Alum. Shock Tower (F/R)-Gold OPTION OPTION OPTION OPTION OPTION
TM505221TI 6.3mm CNC Machined Alum. Shock Tower (F/R)-TI OPTION OPTION OPTION OPTION OPTION
TM505222GD CNC Machined Alum. Upper Arm (2)-Gold OPTION OPTION OPTION OPTION OPTION
TM505223GD CNC Machined Lower Arm (2)-Gold OPTION OPTION OPTION OPTION OPTION
TM505224GD The Fifth Wheel Muti-angle Adjusting Mount-Gold OPTION OPTION OPTION OPTION OPTION
TM505224TI The Fifth Wheel Muti-angle Adjusting Mount-TI OPTION OPTION OPTION OPTION OPTION
TM505225GD CNC Machined Battery Holder (2)-Gold OPTION OPTION OPTION OPTION OPTION
TM505225TI CNC Machined Battery Holder (2)-TI OPTION OPTION OPTION OPTION OPTION
TM505226GD CNC Machined Battery Hoder Mount (2)-Gold OPTION OPTION OPTION OPTION OPTION
TM505226TI CNC Machined Battery Hoder Mount (2)-TI OPTION OPTION OPTION OPTION OPTION
TM505227GD Alum. Body Post (2)-Gold OPTION OPTION OPTION OPTION OPTION
TM505227TI Alum. Body Post (2)-TI OPTION OPTION OPTION OPTION OPTION
TM505228 CNC Machined Stainless Chassis Guard-Front OPTION OPTION OPTION OPTION OPTION
TM505229 CNC Machined Stainless Chassis Guard-Rear OPTION OPTION OPTION OPTION OPTION
TM505230ST E6 Center Differential Set With Steel Case NO NO OPTION OPTION NO
TM505230ST-1 E6 Center Differential Steel Case NO NO NEED TM505230ST NEED TM505230ST ORIGINAL
TM505230ST-2 E6 Gasket for Steel Differential Case (4 pcs) NO NO NEED TM505230ST NEED TM505230ST ORIGINAL
TM505231BK-1 Serrated Wheel Nut (2)- Black NO NO NEED TM505231BK-10 ORIGINAL OPTION
TM505231BK-10 Alum. Splined Wheel Hubs and Nuts +10mm (2)-Black NO NO NEED TM505232BK OR ORIGINAL OPTION
TM505313BK
TM505232BK E6 Mounted Tire 7.1" Size - Splined wheel hubs (2) NO NO NEED TM505231BK-10 OR ORIGINAL OPTION
TM505312GD-10
TM505234BK E6 Black Wheels (2 pcs) NO NO NEED TM505231BK-10 ORIGINAL OPTION
TM505235GD E6 Aluminum Gold anodized - CNC Machined Steering Block (2 pcs) OPTION OPTION OPTION OPTION OPTION
TM505236 E6 Aluminum - Pivot Ball Mount (4 pcs) OPTION OPTION OPTION OPTION OPTION
TM505240 E6 Complete FG Differential Set (F/R) NO NO OPTION ORIGINAL NO
TM505241 Differential Quadrangle Shim (4) NO NO OPTION ORIGINAL NO
TM505242 E6 Size-up Bumper Set NO NO OPTION ORIGINAL ORIGINAL
TM505243 E6 HX Front LED Light NO NO OPTION ORIGINAL ORIGINAL
TM505244 Extension Cord "Y" Type NO NO OPTION ORIGINAL ORIGINAL
TM505245 E6 Quick-released Central Box NO NO OPTION ORIGINAL ORIGINAL
TM505246 E6 HX Body - Clear NO NO OPTION OPTION ORIGINAL
TM505246-1 E6 HX Body Upper Protection NO NO OPTION ORIGINAL ORIGINAL
TM505246MG E6 HX Body - Metal Gray NO NO OPTION ORIGINAL OPTION
TM505246R E6 HX Body - Red NO NO OPTION OPTION OPTION
TM505247 E6 HX Lateral Body Support (2+2) NO NO OPTION ORIGINAL ORIGINAL
TM505248 E6 Quick Release Battery Velcro Strap with Mount NO NO OPTION OPTION ORIGINAL
TM505248-1 E6 Single Sided Foam Tape 95x36x3mm (2 pcs) NO NO OPTION OPTION ORIGINAL
TM505249-1 E6 Gear Cover NO NO OPTION OPTION ORIGINAL
TM505249GD E6 Aluminum Gold anodized - Adjustable Motor Mount /W Cover NO NO OPTION OPTION ORIGINAL
TM505249TI E6 Aluminum Titanium anodized - Adjustable Motor Mount /W Cover NO NO OPTION OPTION OPTION
TM505250GD E6 Aluminum Gold anodized - CNC Machined Central Gear Box NO NO OPTION OPTION ORIGINAL




www.teammagiceurope.net

J& g Em— ANUTURF IO 47 FTR]
LSSInnon Ly

RDUPE:R BRUSH

@m

E6 Trooper 775 E6 Trooper BL E6 Trooper Il E6 11l HX E6 Ill BES
REF ARTICLE (TM505001) (TM505002) (TM505004) (TM505005) (TM505006)
TM505250TI E6 Aluminum Titanium anodized - CNC Machined Central Gear Box NO NO OPTION OPTION OPTION
TM505301 E6 11l BES - F/R Differential Set With Steel Case NO NO OPTION OPTION ORIGINAL
TM505302 E6 11l BES - F/R Differential Outdrive (2 pcs) NO NO NEED TM505301 NEED TM505301 ORIGINAL
TM505303 E6 11l BES - Machined Bevel Gear - 29T / 9T NO NO NEED TM505301 NEED TM505301 ORIGINAL
TM505304 E6 Ill BES - Bevel Gear Case-Metal NO NO NEED TM505301 NEED TM505301 ORIGINAL
TM505305 E6 Ill BES - Center Differential Set With Steel Case NO NO OPTION OPTION ORIGINAL
TM505306 E6 11l BES - Central Differential Outdrive (2 pcs) NO NO NEED TM505305 NEED TM505305 ORIGINAL
TM505307 E6 |1l BES - Center Spool Set With Metal Case NO NO OPTION OPTION OPTION
TM505308 E6 11l BES - Center Solid Axle Outdriver (2 pcs) NO NO NEED TM505307 NEED TM505307 NEED TM505307
TM505309 E6 11l BES - Center Joints Outdriver (2 pcs) NO NO OPTION OPTION ORIGINAL
TM505310 E6 Ill BES - Reinforced Arm Set NO NO OPTION OPTION ORIGINAL
TM505311 E6 11l BES - CVA Driveshaft (2 pcs) NO NO OPTION OPTION ORIGINAL
TM505312GD-10 E6 11l BES - Aluminum Gold - Wheel Adapter +10mm Set - Splined (2) NO NO NEED TM505232BK OR OPTION ORIGINAL

TM505313BK
TM505313BK E6 Ill BES - Tires mounted - Splinned Wheel Hub (2 pcs) NO NO T3 U PRSI OPTION ORIGINAL
TM505312GD-10

TM505314 E6 11l BES - Central Driveshaft (2 pcs) NO NO OPTION OPTION ORIGINAL
TM505315 E6 11l BES Stickers NO NO NO NO ORIGINAL




